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I* L ABINDuL =IN(A 17+ A2RY)/(A2nAon)  (Yd/100<Y<=Yoo)
I* L ABINDuL =IN(A 17+ A2) (A2 Aon) - (X=YTYy)
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1* L ABINDUL =IN(A 17+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yno)
L aganpu1 =IN(A 1+ AaX)/ (A Aon)  (X=Y1Yy)
AYIY=Aor(ArH Ao )Y=Ag (At AsX)/Y
(dY/Y}5=1.0059, A;=1,0, Ay =0,1044, ¢=1,00
(dY/Y)g=0,0967, Ay=0,017, A,=0,0058
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(Y/dY}5=166,97, Ay=1,0, Ay, =0,1044, ¢=1,00
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Y=L w nc=100,
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(dY/Y}5=0,0059, A,=1,0, Ay, =0,1044, ¢=1,00
(dY/Y)§=0,C67, A,=0,017, A4,=0,0058
(dY/Y} 50,015 Y, =18, dY=0,12
Iog(dY/Y):—Z 17, m=—0,10.5
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(Y/dY)=166,97, Ay=1,0, Ay=0,1044, ¢=1,00
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LHIL* YocmL*w -~ n¢=100,
L*LaganDu1 =IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)

L aganpu1 =IN(A 1ntA2) (A2iAon) - (X=YTYy)
L*\(3,6)=219,L* ,(18)=498,L*y,(90)=776

L*g/L*=1,55, Apy=1,0, Ay, =0,1044, ¢=1,00
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L*Laganpu1 =IN(A1n+ A2 Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpu1 =IN(A 1ntA20) (A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,0, Ay=0,1044, ¢=1,00
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L aganpu1 =IN(A 1nt A2 ) (A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

(AY/Ypo/(dY/Y)1=0,88, Ay=1,0, Ay =0,1044, ¢=1,00
(AY/Y)g/(dY/Y)= .00, A;=0,017, A,=0,0058
dY/Y) J(dY/Y)=1,°8 Y,=18 dY=0,12
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GGy =(YIBVIYIAY), oo T 00,
L*Laganpu =IN(A1n+ A2 ) (A2rAon) - (Yad100<Y<=Yyo)
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